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Note : (i) All questions are compulsory.

(ii) The question paper consists of 30 questions divided into four Sections ‘A’, *B’, *C’ and
‘D’. Section *A’ comprises of ten questions of 1 mark each, Section ‘B’ comprises of five
questions of 2 marks each, Section ‘C’ comprises of ten questions of 3 marks each and Sec-
tion *D’ comprises of five questions of 6 marks each.

(iii) All questions in Section ‘A’ are to be answered in one word or sentence or as per the exact
requirement of the question.

(1v) There is no overall choice. However, internal choice has been provided in one question of 2
marks each, three questions of 3 marks each and two questions of 6 marks each. You have
to attempt only one of the alternatives in all such questions.

(v) In questions on construction, drawing should be neat and exactly as per the given
measurement,

(vi) Use of calculator is not permitted,

{vii) Start from the first question and proceed to the last, Do not waste your time over a guestion
which you cannot solve.
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fawr ol o uRan fbu aemey & ORWE e 29/343 @7 S WER Wi € AT G S
g7 1
Without performing long division method, state whether the rational number 28/343 is a terminating
decimal expansion or a non-terminating repeating decimal expansion ?

[GUTa 95U x2 — 16 © YH HIa @l | 1

Find the zeroes of quadratic polynomial x4 — 16,

E® AR I% aux+ by +e¢ =0 3R X + by +c, =0 & T AN THa & 3™ had
U & & 86 @ afoe [ 1
Write the condition for a pair of linear equations a;x + by + ¢, =0 and azx + by +c; =0 has
consistent and one and only one solution.

AN A9 0.6, 17,28, @ 1581 U S0 BT | 1
Find 15" term of AP, 0.6.1.7,.28,

A Promtrdm wrl & w4 B0 sin? 25° + sin? 65° $ A 080 | 1
Without using Trigonomeiric tables determine the value of sin® 25° + sin® 65°.
UF T & w0 @ g 63 BH 8 | BF @1 s gargq | 1

The length of diagonal of a cube is 64/3 em. find the volume of the cube.

Tgerd @i IRAIT P | 1
Define “Mode’.
Tk R B J5TH1 JETE S | | ¥ o ) Ui qan g ? 1

A coin is tossed at random. What will be the probability of getting head ?

= ¥, DE || BC & EC ST @ifaq |
In figure; DE || BC. Find EC.

0% R P ¥ U% g0 W W W ) @ 8 Wlo Ul P o# 9N @ B W g 10 Wilio &1 W &
E?’laﬂ]gﬂﬂ ETE il | 1
From a point P, the length of the tangent to a circle 15 8 em. and the distance of P from the centre of
circle is 10 cm. Find the radius of circle
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1. AT 5% =7 79 B 97 sin2 A = 2sinA weg & 7 2

For which minimum value of A. sin2 A = 2sinAis true 7

12.{&%@%%@(x,,yl}ﬂ%§ﬂﬁﬁ?ﬁﬁm 2

Find the distance of the point (x, , y,) from origin.

13. 3 %0 e &1 1@ g9 ift aiv @1 9ae B g W vl Sy it | 2
Draw a circle of radius 3 em. and then draw a tangent at any point of it
1. FfeRT e g &1 omerdi R & 9 - | 2

Give solution by graphical method for the following pair of equations —
2x+y—6=0;4x-2y—4=0

15.@@'@@%%%1@%@%&#3&%%%; 2
A dice is thrown at random. Find the probability of getting an odd number. ;
HYET (OR)

12@?1?;?11&31132mﬁﬁﬁmﬁﬁwﬁ?mmmmﬁmnﬁﬁﬁﬂ%mﬁ
ol wifear s A |

A pen is drawn at random from a mixture of 12 defective pens and 132 good pens. Determine the
probability that the pen taken out is zood one.

g -
(SECTION - *C")

16. 2x% — 3x% — 3% + 6x — 2 B su W w5 P AR 5 9 =w VI R —vE o

£l 3
Find all other zeroes of 2x* — 3x3 — 3x2 4+ gy - 2, if you know that two of its zeroes are
V2 and —vZ .

1?.naﬁsmaﬂ%ﬁwﬁﬁm@nﬁ@Fﬁﬂaﬂ@mﬁaﬂuﬁmﬁ iy |

How many odd numbers are there in between 0 and 50 and find their sum.

L}

18. Fders 1 fauror G a1 g @ TRt 135 81K 225 B HCF ST B | 3
Using Euclid’s division algorithm, find HCF of the numbers 135 and 225,

AT (OR)

g 9ifom, vZ v s wen &

Prove that 2 is irrational.
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Check whether points A (5,—2), B (6,4) and C (7, —2) are the vertices of an isosceles triangle ABC,

fa=gaft (-3, 10) W@ (6,~8) 31 A dreil Y@ B g (~1, 6) fre s e e 27 3

In which ratio the point (—1, &) divides the line segment joining the points (—3, 10) and (6, —8) ?

.ﬁﬁtan(ﬂ+5]=v§:t&n{ﬁ—3)=%ﬁﬁ 0°<A+B<90°, A>B, T ATT B & A9 T4

PIAT | 3

If tan(A + B) = /3 ; tan(A — B)= % where, 0° < A+ B <90°, A > B, then find the valye of A
L)
and B.

T (OR)
Rrg @ifor s, 1+secA  sin’A
Prove that. SEE;‘J&— ) 1—cosA
ﬁﬁn,ﬁﬁ%eﬂ??ﬁnﬁmﬁmm%ﬁaaﬁmaﬁﬁﬂmﬁﬂ%aﬁqﬁ??wﬁrﬁm
foraeht o 30 §Y Prwr o1 W qomel # 2/3 T # | 3

Draw a triangle with sides 5 ¢cm., 6 cm. and 7 em. Then construct a triangle whose sides are 2/3 of
the corresponding sides of the given triangle.

aﬁmmfgﬂﬂaﬂ"zﬁrgﬂw 306 € | G qamEy | 3

The product of two consecutive positive integers is 306, Determine the integers,
Wﬁﬁﬁﬁﬂﬁﬂﬁﬁﬁﬁ?m {ﬁﬂ??ﬁﬂ §§E‘rr g @7 45 wE0 B qrell U THE 39 A7
-grq,Eﬁaﬁa‘:mﬂmﬁﬁ?tﬁﬁaﬁﬂwmm‘ﬁﬁm{n=3.14;| 3

An umbrella has 8 ribs which are equally spaced. Assuming umbrella to be a flat circle of radius 45
cm., find the arca between the two consecutive ribs of the umbrella. (mr=3.14)

8 %10 X 6 W10 WY &7 UF AT UP g B ST wie 7 E
ol 6 T 4 fmar r # ) wwife o @1 St o SR
(r = 3.14)

A rectangle measure of 8 cm % 6 em, is inscribed in a circle as
shown in figure. Find the area of the shaded region. {m = 3.14)

3RMET (OR)
&1 ¢ s ¥ 0ACB F 0 3R fe 3.5 10 el U@ g7 P T 2 | c A
3¢ op=2 ¥ & 1 STt 4T B &P s AT ‘ .
In figure OACB is a quadrant of a circle with centre O and radius 3.5 cm. |
IFOD =2 cm,, find the area of the shaded regjon.
B o
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Frferiias it @7 ger sifom — 1 1 11 6
Solve the following equation - A i = éﬁ ixF =47
SRR (’DR]

T gfey BUW@TWWUW$Tﬁﬁﬁﬂﬂ?ﬁ'%?&ﬂg?ﬂﬁmﬂﬁﬁm
3N dier o P

Is it possible to design a park of perimeter 80 meter and area 400 m* ? If so. find its length and
breadth.

anﬁaﬁﬁwﬂ@@m%aﬁ?@wwgﬂwgsﬁm%ﬁﬁqa—rﬁm?aﬁﬁaﬁaﬁ
T & SiIY g¥h Wl 30" F BT A 2 0% B uE-fig o g Wl Us @l frEw sE @ e
€ 8 HIeT 8| U2 B Gurg oie Ao | 6

A tree breaks due to storm and the broken part bends so that the top of the tree touches the ground

making an angle 30" with it. The distance between the foot of the tree to the point where the top
touches the ground is 8 meter. Find the height of the tree,

el 4251 U A%ed @ a8 wawd Sy £ | e vewd 7 18 B 8 A g A
£ BT 6

The following distribution shows the daily pocket allowance of children of a locality. The mean
pocket allowance is T 18. Find the missing frequency £

I S R 3 . 11—13‘ 13-15 | 15-17 | 17—19 | 19-21 !21—23 23-25
| Daily pocket allowance (in T ) . |
; | 1 :
Number of children 2 | 4 g lts £ L 2 JI_

T T U WA T F AR P 2 R TR 0P S do SeRRE | o A @ A
14 30 & SR §W Q @ (1) B G Sars 13 W0 & | gwr AR UEE Sawe T S 6
A vessel is in the form of a hollow hemisphere mounted by a hollow cylinder. The diameter of the
hemisphere is 14 cm and the total height of the vessel is 13 cm. Find the inner surface arca of the
vessel.
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30, f¥rg DI & 1o wmam™ B & &9 &1 7 o <1 qonst & 9o
& AT & T BT £ | 39, AT ABC TP wAgATg g ¥ e
C IV WS & a1 Ry 5 AB? = 2402
Prove that in a right angle triangle, the square of the hypotenuse is
equal to the sum of the squares of the other two sides.
Now, if ABC is an isosceles triangle right angled at C,

Show that AB? = 2A(2. A

HUGT (OR)

g A 5 ARt 3 e Y 0F P 91 @ e @
aFqare H fawifor el € A7 98 Y i o & R 8 8 |

§ JFY T 9T & §U w5 Bre ABC #1 <1 e AB

9 AC & ey Tdg F99: D ¢ E & o BC=2DE .

Prove that if a line divides any two sides of a triangle in the same

ratio, then the line is parallel to the third side, Using the above B
theorem in a triangle ABC. if D and E are the mid points of sides AB
and AC respectively, Show that BC =2 DE.
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